Math 10e – Unit 5 (Measurement)

- #41 – Surface Area

Lesson #41 – Surface Area
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Finding the surface area of most shapes is just applying your knowledge of how to calculate area to a different use.  For example a rectangle box is constructed of 6 rectangles or sides.  Each side has a pair so in fact you only have 3 separate sets of different rectangles.  As you know the formula for a rectangle is b x h, so you simply need to make 3 calculations for b x h and multiple each calculation by 2 in order to find the surface area of a rectangle.  Your formula would then look like this;
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Find the surface area of each figure. Cross out the box containing each correct
answer. When you finish, write the letters from the remaining boxes in the
spaces at the bottom of the page.
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Give the SURFACE AREA of each prism. Find your answer in the answer columns
and notice the two letters next to it. Write these letters in the spaces over the exercise

number at the bottom of the page.
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@ A rectangular storage box is 12 in.
wide, 15 in. long, and 9 in. high. How
many square inches of colored paper
are needed to cover the surface of
the box?

Answers

A teacher made a pair of foam dice

to use in math games. Each cube
measured 10 in. on a side. How
many square inches of fabric were
needed to cover the two cubes?

8,560 in.2

94 cm?
() sem?
(CH) 1,200 in.2

318.26 m2
9,600 in.2
(GE) 300.56 m?

25.92 cm2
1,050 in.2
85 cm?
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